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Grade 8 Mathematics

1 The teacher wrote this number sentence.
3y=12
Four students tried to explain the value of y.

Which answer is correct?

y=9
because
9+3=12

y=15
because

y=4
because

y=36
because

2

5x |2 | =45

What number is missing from this number sentence?

O 8 o 9 O 40 O 50
3 The decimal equivalent of

2 is 05555
The decimal equivalent of
5 is 02223

What fraction is equivalent to 0.888 ?

"
8090051853-03 % 3
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Grade 8 Mathematics

4
4x =32
What is the value of x ?
o 2 O 4 o 8 16
5 Whatis the valueof a+20-5
ifa=5andb=87
o 17
O 18
o 22
O 33
6 Khalifa measured the temperatures in his fridge and freezer.
The temperature in the fridge was 3 °C.
The temperature in the freezer was 20 °C colder.
What was the temperature in the freezer?
O -23°C
O -20°C
O -17°C
O -13°C
7 Complete this equation:

(3.75-1.5) x 2 =

il
8090051853-05 % 5
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Grade 8 Mathematics

8 Saradrew a rectangle.

4cm

She then enlarged the first rectangle to make a larger rectangle.

2cm

8cm

By what scale factor was the rectangle enlarged?

O 1 o 2 o 4 O 8

9 Latifa cut through this triangular prism as shown and took the top off.

£

What is the new top view of the remaining solid?

10 Miatch these fractions with their decimal equivalent.

One has been done for you.

1

2
:
4

1

10

1

5 0.25

b
8090051853-07 % 7
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Grade 8 Mathematics

1"

Noura made a design.

The four white triangles are equilateral.

What type of triangle is the grey triangle?

O  equilateral

O isosceles

O scalene

O  right-angled
12

A 4 i = ?

3 5

2 6 5 19

e 5 - 15 o 8 15

13
309NU150° .
- x
o

What is the value of x?
14 Whatis 30% of% ?

O 0012 O o012 O 12 12

-
8080051853-09 % 9
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Grade 8 Mathematics

15 Four students state their chance of solving a problem.

I have no chance
of solving the
problem.

I have one in two
chances of solving
the problem.

I can solve the
problem.

Thave a 75%
chance of solving
the problem.

Whose chance is shown by X on the number line?
- 3¢ [
[ o o
0 1
O Al
O Hamad
O Mubarak
O Ahmad
16 Sara used a scale factor of 4 to draw this enlarged picture of a butterfly.
1 |
I 1
I |
1 |
] 1
!
|
1
! [
] 1
1 |
1 |
I |
! |
6cm
What is the length of the real butterfly?
O 12cm O 15cm O 10cm O 24cm

8090051853-11
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Grade 8 Mathematics

17 Which number completes this equation?

O -6
o -4
o 2
o 6

18

Simplify the expression:

4a x 3a x 2ab

o

000

12a® +2b
12a® + 2ab
24a’h
24a%b?

19

Bedreya makes a drink using:

350 mL of orange juice
300 mL of carrot juice
250 mL of pineapple juice
500 mL of water

How many litres is Bedreya’s drink?

o=
o
o
o

1.3L
14L
13L
4L

-
8090051853-13 %
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Grade 8 Mathematics

20 The graph shows the types of television shows preferred by two age groups.

Documentary

Action

[l 40-year-olds

Comedy E 16-year-olds

Drama

Which type of show was the least favourite of both groups?
O Documentary
Action

Comedy

00O

Drama

21
12a-1+4a+ 3=

O 8a-4 O 8a+2 O 16a-4 O 16a+2

22 How many grams of real fruit does the jam contain?

O 20g
O 30g
O 60g i
Strawberry
O 120g Famnt
600 g

N
8090051853-15 ﬁ 15
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Grade 8 Mathematics

23 What is the perimeter of this figure?

O 30m
O 34m
O 40m
O 44m

(Diagram is not drawn to scale)

12m

5m

N
<

<5

24

What is the value of a + b + ¢?
O 150°

O  180°
O 330°
O 360°

30°

8090051853-17
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Grade 8 Mathematics

25 Rashid made this object using six cubes.

He drew the side view and the top view as shown.

front

Draw the front view here.

N

side front

top

26 Which of these is the largest?

O

(-]
O
O

40%

0.07
3

5
0.5

"
8090051853-19 %
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Grade 8 Mathematics

27 'This square floor design is made of two colours, grey and white.

What percentage of the design is grey?

O 021%
O 0.84%
O 2%
O 84%

Use the following graph to answer questions 28 and 29.

The graph shows the number of children in each family at school.

Number of children in each family

9
8
7
6
Number of 5
Families 4
3
2
l -
0 1 2 3 4 5
Children

28 How many families are at the school?

0 s G 8 o 18

29 How many families have more than 2 children?

o 2 o 5 O 8

.
8090051853-21 % 21
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Grade 8 Mathematics

30 What type of angle is shown?

O acute

O right

O  obtuse

O  reflex
31

4 p
A
2

Which of the following can be used to find p?
p=4+2

pr=4+2

p=4+2

0000

pi=4+2

32

Khalid is building squares with matchsticks.

Which of these can be used to find the number of matchsticks (M) needed to build (S) squares?
O M=35+1

M=4§

M=45-1

000

M=35-1

o
8080051853-23 @ 23
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Grade 8 Mathematics

33
Ifx=3,
what is the value of x* + x°?
O 6 o 7 a9 10
34 Complete the table to malch the fractions with decimals and percentages.
Fraction Decimal Percentage
3 9
" 75%
0.01 1%
4
5 0.8
35 Complete this equation:
3a _a _| ,
4 4 )
2a 4a 3
o n O 2 o n n
36 Fatima saves 5% of 1200 AED each month.
How much money does Fatima save each month?
o 5 AED
O 20AED
O 60 AED
O 240 AED
8090051853-25 %2 25
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Grade 8 Mathematics

37

80 cm

170 cm

(Diagrams are not drawn to scale)

Which of the following shapes has the same perimeter as the triangle above?

80 cm

150 cm

300 cm

o

20cm

100 cm

38 Jasem throws balls at the target.

2
5

He throws 4 balls which all land on the target.

Which total score is not possible?

O 17
O 21
o 27
O 40
8090051853-27 % 27
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Grade 8 Mathematics

39 Mahmoud builds a fence for a circular training arena for horses.

The diameter of the arena is 126 m.

< 126 m »| |Circumference of circle = nd

What is the length of the fence?

40

This table shows the costs to hire different types of cars.

Car hire costs
Car type 1-3 days for every extra day
Lancer 100 AED per day 60 AED per day
Accord 120 AED per day 80 AED per day
Prado 160 AED per day 100 AED per day
Lexus 200 AED per day 120 AED per day

Faisal paid 200 AED to hire a car for two days.

Which type of car did Faisal hire?
Lancer

Accord

Prado

000ODO

Lexus

29
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Grade 8 Mathematics

41 10 cm

11
< 15¢m >

What is the area of this figure?

) 100 cm? O 120cm? O 140 cm? O 160 cm?

42 Complete this equation:

43 The usual price of a pair of football boots is 150 AED.

Saif bought the boots on sale, with a discount of 20%.

DISCOUNT

20%

How much did Saif pay for the boots?

AED

8090051853-31 @E 31
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